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Writing Task 1

You should spend about 20 minutes on this task .

The graph below shows the different modes of transport used to travel to and from work in one
European city in 1950, 1970 and 1990 .

Write a report for a university lecturer describing the information shown below .

You should write at least 150 words .
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Writing Task 2 B3R %A .
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Writing Task 2

You should spend about 40 minutes on this task .

It is inevitable that as technology develops so traditional cultures must be lost . Technology and
tradition are incompatible—you cannot have both together. To what extent do you agree or
disagree with this statement?

Give reasons for your answer .

You should write at least 250 words .

You should use your own ideas , knowledge and experience and support your arguments with examples

and relevant evidence .
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Writing Task 1

You should spend about 20 minutes on this task .

The table below shows the hours of leisure time different age groups spend in Country A in a
year .

Write a report for a university lecturer describing the information in the table .

You should write at least 150 words .
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Hours of leisure time per year in Country A
Teens 20s 30s 40s 50s 60s 70s+

Watching

TV / videos
Socializing with
4 or less people

1200 700 400 500 600 700 1100

150 150 300 250 250 200 200

Secializing with 350 | 350 50 50 25 25 25
4 or more people

ndiyidya 150 100 200 200 50 75 150
exercise

Giodh 450 350 200 150 50 0 0
exercise / sport

Cinema 100 75 50 25 25 50 75

= MRIEAEIE B A S

Writing Task 1

You should spend about 20 minutes on this task .

The chart below shows the number of men and women in further education in Britain in three
periods and whether they were studying full-time or part-time .

Write a report for a university lecturer describing the information shown below .

You should write at least 150 words .

Thousands

in further
education

1200 Female

1000
800
600

400

200

0

1970/71 1980/81 1990/91  1970/71 1980/81 1990/91

[ Full-time education
[] Part-time education
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Writing Task 1

You should spend about 20 minutes on this task .

The graph below shows the sales of a product in three major international markets in the period
between June 1994 and January 1997 . A new marketing strategy was introduced in June 1995 .

Write a report for a university lecturer describing the information given in the graph .

You should write at least 150 words .

10 A
9 A
8
7 4

JAPAN

INDONESIA

Sales
in $10 000

4 -
3 4
2 -
1 1 FRANCE

Jun94 Jan95 Jun95 Jan96 Jun96 Jan97
Year

VU | AR DFE A S

Writing Task 1

You should spend about 20 minutes on this task .
The following two graphs display the workforce distribution in 1932 and 1992 in Great Britain .
Write a report for a university lecturer describing the information given in the diagram .

You should write at least 150 words .
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Writing Task 1

You should spend no more than 20 minutes on this task .

The diagram below provides information about the Gross Domestic Product (GDP) in 1992 and

employment sectors of a developing country .
Write a report for a university lecturer describing the information shown in the diagram .

You should write at least 150 words .

services
Natural | Industry Trade, Transport, |Government| Other Total
resources restaurants, [communication
% % hotels % % % % %
Employment | 77.4 3.6 4.9 1.6 8.7 3.8 100.00
GDP 19.2 15.4 37.1 8.4 12.5 7.4 100.00
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Write a report for a university lecturer describing the information shown below .
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Sample Topie

Writing Task 1
You should spend about 20 minutes on this task .

The bar chart below shows the number of complaints made by con—
sumers about different types of products and services in the years
1999 and 2002 .

Write a short report for a university lecturer describing the infor—
mation in the graph .

You should write at least 150 words .

% change

A 17
Becond-fand cars _ 67%
Clothing # 40%

[] 2002

Electric goods —4 92% W 199
Financial services ——‘ 5.2%

I T T T T T T T T T
0 10000 20000 30000 40000 50000 60000 70000 80 000 90 000

Number of complaints
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The bar chart illustrates the changes in the number of complaints made by consumers about five se—
lected products and services in 1999 and 2002 . According to the diagram , there was an increase in the
complaints about all the products and sewices except for clothing .

The number of complaints about package holidays abroad and financial services increased over the
period . The complaints made about the package holidays abroad rose by 12 . 7% from 13 000 in 1999 to
about 15 000 in 2002 . And there were about 52 000 complaints about the financial serwices in 2002 ,
5.2% up in 1999.

There were also more complaints about electric goods and second-hand cars in 2002 than in 1999 .
The complaints about the two products rose by 9.2% and 6.7% respectively . The former increased
Jrom 66 000 in 1999 to about 72 000 in 2002 and the latter went up from 80 000 to abowt 86 000 . And
clothing is the only sector where the number of complaints dropped over the period . In 1999 , there were
around 42 000 complaints while the figure decreased by 4% to around 40 000 in 2002 .

In conclusion we can see there were more complaints about the products and services in 2002 than in

1999 with the only exception of clothing .

152
TS — BRI A 00 307 U0 AR SR AR AR AR bR LA b i e A0 45 8L — )
AR R PRI R W 5 B0 RIS BT K Az B ] B
The bar chart tllustrates the changes in the number of complaints made by consumers about five se—
lected products and services in 1999 and 2002 .
Fe 5 N — AR LR IR R SR T S LA

According to the diagram , there was an increase in the complaints about all the products and ser—

51

illl3
ok

vices except for clothing .

FHERE

LR FATHE 5 FhECHE 23 P K2 RIS TFIR 55 (services ) B FLYRFIXS T 7 fib
(products AL IF, 18 1 WL A& PR F IR 55 (B package holidays abroad Fl financial services )
BRI 1999 AEF] 2002 AEEIN T, ST /= s B VR  SUAFFE P A &0 X T electric goods Fl1
secondhand cars (PRGN T 1 clothing 77V FEEUR FRE T, SCEE FHMARFRR AN H 2R
B 3 ik PR

5 A ARB RS — A A A

The number of complaints about package holidays abroad and financial services increased over the

period . ...
5 = A SR BT W R TR AR PRI [R] R 3 A Tz By BoE fBerh
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There were also more complaints about electric goods and second-hand cars in 2002 than in 1999 .

... And clothing is the only sector where the number of complaints dropped over the period . . ..

PR SO X SR MER I AN 08 B 3B 7 ZEA R A R R BB S8, 18]
SARCHE S B IR A B TP R A ISR A U T SRR AR B

1

He#s
wJr X ERBIE B 2IHe i i 7 ST B E . ASCERBIRE &

I B B TT IS .

The number of complaints about package holidays abroad and financial services increased over the

period . ...
There were also more complaints about electric goods and second-hand cars in 2002 than in 1999 .

.. .And clothing is the only sector where the number of complaints dropped over the period . . ..
Xt AL B T7 T S A T RS MR B AL

In conclusion we can see there were more complaints about the products and services in 2002 than in
1999 with the only exception of clothing .
EE . X5 5515w H A SRS ZA P O AT LSS A,
AL ACEZIXRE) 150 F 51 50 M EABIEC A8 T 8E iy E s H
SCEEA 34 ARE N A5 s AT 58 4xnl LAY

FHIE EERELEHES TR

L RORUHAE” ) T AR

FE B RAE SO O HRAESCER 5| 5 3580 )T 22136 BCE Fs B oRIE a0 .
The table shows the estimated number of visitors to the UK between 1982 and 1987 .

As can be seen from the table , there was an 85 percent increase in real expenditure during this

period .
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) table ,
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graph ,
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Byin] iR 2 il 2
rise (t0) a (dramatic) rise
increase (to) an increase

e Mg go up / grow (to) a growth
climb (t0) an upward trend
boom (o) a boom




